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19 BEEMERUORNE 6,719 16.5 6,889 3.0 A170 A2.5
23 EEZMNFRUESIH 3 0.0 3 0.0 0 0.0
27 n 2E 9| 0.0 9| 0.0 0 0.0
29 % = 1,000 25 1,0000 04 0 0.0
B 5 40,724 100.0|  232,157| 100.0 A191,433 A825
@D EBFEHEERIFRIRE
(Bf1 . FH. %)
" P RL23FE T RL 225 tb &
TEE |EAt| TEH% [#Estt| 1B 8 %8 1B
9 RE 48| 0.2 48| 0.2 0 0.0
11 = RE 1,803 9.1 5,204| 25.6 A3,401 2654
12 & e 4,412 223 388 1.9 4,024 1,037.1
13 E S 3,549 17.9 3,242| 16.0 307 9.5
14 EFAHABKRUVE BN 25 0.1 18 0.1 7 38.9
15 T B % as 0| 0.0 0| 0.0 0 0.0
19 8BESHIRUORNE 8,000( 40.5 3,000[ 14.8 5,000 166.7
25 & Vksr3 1,940 9.8 8,401 41.4 26,461 AT76.9
B 5t 19,777| 100.0 20,301| 100.0 A524 A26
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QEEFPIFREBERRBISE

(Bf1 . FH. %)
N T 23FE T 22FE b ®

- FEE B\t T8 [#stt| 1B 8 %8 1B
1 HREN 7,807 5.8 7,970 5.9 A163 A2.0
2 Bl 42,385 31.6 42,498| 315 2113 A0.3
3 B 8 F 3% 22,250 16.6 23,485| 17.4 A1,235 253
4 H B 14,307 10.7 13,748 10.2 559 4.1
7 =frs 0| 0.0 0| 0.0 0 0.0
8 R & 1,098 0.8 1,096 0.8 2 0.2
9 hRE 441 0.3 461 0.3 A20 A43
10 % 2 10 0.0 10 0.0 0 0.0
11 = 32k 6,532| 4.9 6,906 5.1 A374 A54
12 % e 839 06 743 06 96 12.9
13 E SER 5132 3.8 6,126| 4.5 A994 A16.2
14 EFAHABKRUVE BN 458 0.3 655 0.5 A197 A30.1
15 T B % a& 496| 0.4 1,028 0.8 A532 A51.8
18 B & B AE 1,902 1.4 490 0.4 1,412 288.2
19 BEEMNRUORNE 2,951 2.2 2,302 1.7 649 28.2
23 BEEMNFRUESIN 26,303 19.6 26,304 195 A1 0.0
25 & & 28/ 0.0 32| 0.0 A4 2125
27 n 2g 17 0.0 34| 0.0 A17 A50.0
29 % E= 1,000( 0.7 1,000 0.7 0 0.0
& g 133,956/ 100.0 134,888| 100.0 A932 A0.7
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@LFLYY -BERFRISE

(85ft7 : FF. %)
- TRBEE TR2EE bk =
= FEsE @t dEm (met| mowm | mEs
1 ZREN 7,089 51.6 7,240 52.6 A151 A21
4 H BE 844 6.1 942 6.8 A98 A10.4
8 iR BE 271 2.0 233 1.7 38 16.3
9 RE 2,667 19.4 2,324 16.9 343 14.8
11 == ZSE=S 1,618 11.8 1,418 10.3 200 141
12 = =E 575 4.2 573 4.2 2 0.3
14 A KB KU EBH 239 1.7 239 1.7 0 0.0
19 8BEFHERUORNE 330 2.4 686 5.0 A356 A51.9
27 AN BE 9 0.1 9 0.1 0 0.0
29 % iwE 100 0.7 100 0.7 0 0.0
=] 5 13,742 100.0 13,764 100.0 A22 A0.2
OEMEREFEEEENBESRIRET
(8f7 : FMA. %)
- TR2IEE TR22TE b &=
= Tesm |mmth| BEm (@] mowE | e
2 foml 340 0.2 340 0.3 0 0.0
11 == ==k 37 0.0 39 0.0 A2 A51
12 = e 16 0.0 14 0.0 2 14.3
14 EAHAKB KU EBH 7 0.0 7 0.0 0 0.0
21 g & 66,600 43.8 59,400 45.3 7,200 12.1
25 B VA7 85,076 55.9 71,305 54 .4 13,771 19.3
=] B 152,076 100.0 131,105 100.0 20,971 16.0
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8 SMERIBETOEIBIX]

P23FEFRICRITDISHDEBEDINRIE. ROEHBDTY,

(BT 1)
v VAN C} N
e | &= &ﬁmﬁ,f‘ﬁ IHE/EFE j:ﬁlllil_‘ﬁ
& B HR-AY ® FE mR-AY ® ¥E mR—AY
—IRE 12,149,000 104.4| 8,093,000 199.6| 9,247,000 148.5
BRYZFL | 4 anl 4 anl e T
Al 0 0.0 0 00| .
EEEPIPREEE | 16,936,000 145.6| 5,157,000 127.2| 39,277,000 630.8
EESPIEIERE | 11,205,000 96.3| 4,274,000 105.4| 10,824,000 173.8
IDVEYYH-BEE 7,215,000 62.0 2,535,000 62.5| 3,865,000 62.1
EENRREZEESE
S 5,080,000 43.7] 15,080,000 372.0| 15,080,000 2422
& & 52,585,000 452 1| 35,139,000 866.8| 78,293,000 1,257.3
~ )| B3R R _
a8 B8 & & — 2\ — s 5 =t
£ % HE—AY £ 8B HERE—AH
_EQ%§§ ...................................................................... 29,489,000
BRYZTL | ] e .
=t P P P
——— e e I 51370000
E— T R 26303000
DEIBEE | e e e e 13,615,000
EERETESS | ' ' '
SEEE 34,680,000 415.0/ 15,080,000 274.3| 85,000,000
& &t 34,680,000 415.0( 15,080,000 274.3| 215,777,000
% EpY23FEEHHEHAD
ED =iz 1] 116,325 A
WRMm 40,537 A
Tlxm 62,270 A
REmEBEEET 219,132 A
i) || 83,567 A
BHRm 54,978 A
RRsHhEIEET 357,677 A
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